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Read 1.3 (61-70)
1.3671) 9,17,21,23,254 37,49,51,53 ,59,75*
Read 1,4 (74-80)
Find the Limit
9 lion (x²+3x) = (-3)²=3(-3)= 9-920

o lim 2 = 2 - 3

al lim 2 = 312 al un

23 f(x) =
5 x g(x ) = x
1. (a) lim f(x)= 5 -134

(6) lim g(x)= 43=64

(as lim g(f(x))=q(4)= 64

(as) f(x) = 4 -x² g(x) = 5x+

(a) din f(x) = 4-12 =3

(6) lim g(x) = √3+ = +4 =2

(c) lin g(f(x))= g (3)=2

(37! lim f(x)=245 limre g(x)=2

(a) live [5g(x) ]= 5 (2)210

(6) lime(f(x)=g(x)]= 25 +2 =2 + 10 =12

(c) lime [f(x)g(x) ] =(23X2) = 45

(d)linede lasdos = also = 28 12 - 3
yu
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bydirect thecours we have
A tit & indet,foron

lo exts -3 o indeterm. form )

prs ! -

lim 2(x+ 2)-2x

lie ax +2x)-2x
. (A7 )

to ſx +2 -12 (indet. I form)

= lit 2(a =2

co is an indetermint home )

usig numeric:
x 1- 1 1-.ol 1-.oollo lool 1.0 1.00]

1.3536 )? |35851|3534|34924

about .35355
Analytic
line laste-F 4x+2 +12

lin (x+2)-2

limo C 4 +1 ) = vot the ate te
70 X ((x+2 + 12 )


